## Scientia Magna

Vol. 4 (2008), No. 1, 67-71

# On the value distribution of the Smarandache multiplicative function ${ }^{1}$ 

Yuan Yi<br>Research Center for Basic Science, Xi'an Jiaotong University<br>Xi'an, Shaanxi, P.R.China


#### Abstract

The main purpose of this paper is using the elementary method to study the value distribution property of the Smarandache multiplicative function, and give an interesting asymptotic formula for it.


Keywords Smarandache multiplicative function, value distribution, asymptotic formula.

## §1. Introduction

Let $n$ and $m$ are two positive integers with $(n, m)=1$, the famous Smarandache multiplicative function $f(n)$ is defined as following:

$$
f(n m)=\max \{f(n), f(m)\}
$$

It is easy to know that Smarandache multiplicative function is not a multiplicative function, in fact, for two different primes $p$ and $q$,

$$
f\left(p^{\alpha} q^{\beta}\right) \neq f\left(p^{\alpha}\right) f\left(q^{\beta}\right)
$$

About this function and many other Smarandache type functions, many scholars had studied them properties, see [1], [2], [3] and [4]. For example, professor Henry Bottomley [5] had considered eleven particular families of interrelated multiplicative functions, many of which are listed in the Smarandache's problem. Tabirca [6] proved an interesting properties about the Smarandache multiplicative function: If $f(n)$ be the Smarandache multiplicative function, then

$$
g(n)=\min \{f(d): d \mid n, d \in N\}
$$

is the Smarandache multiplicative function too.
For any fixed positive integer $n$, let $p(n)$ denotes the greatest prime divisor of $n, S(n)=$ $\min \{m: m \in N, n \mid m!\}$ be the Smarandache function. From this, we know that $p(n)$ and $S(n)$ are the Smarandache multiplicative functions. Dr.Z.F.Xu [7] deduced that for any real number $x>0$,

$$
\sum_{n \leq x}(S(n)-p(n))^{2}=\frac{2 \zeta\left(\frac{3}{2}\right) x^{\frac{3}{2}}}{3 \ln x}+O\left(\frac{x^{\frac{3}{2}}}{\ln ^{2} x}\right)
$$

[^0]where $\zeta(s)$ is the Riemann zeta-function.
Now, for any prime $p$ and positive integer $\alpha$, we define $f\left(p^{\alpha}\right)=p^{\frac{1}{\alpha}}$. Let $n=p_{1}^{\alpha_{1}} p_{2}^{\alpha_{2}} \cdots p_{r}^{\alpha_{r}}$ be the prime power factorizations of $n$, then from the definition of $f\left(p^{\alpha}\right)$ we have
$$
f(n)=\max _{1 \leq i \leq r}\left\{f\left(p_{i}^{\alpha_{i}}\right)\right\}=\max _{1 \leq i \leq r}\left\{p_{i}^{\frac{1}{\alpha_{i}}}\right\} .
$$

It is clear that $f(n) \leq p(n)$. In this paper, we shall use the elementary method to study the value distribution property of $f(n)$ in the following form:

$$
\sum_{n \leq x}(f(n)-p(n))^{2}
$$

where $x \geq 1$ be a real number, and give an interesting asymptotic formula for it. In fact, we shall prove the following result:

Theorem. For any real number $x \geq 3$, we have the asymptotic formula:

$$
\sum_{n \leq x}(f(n)-p(n))^{2}=\frac{2 \zeta\left(\frac{3}{2}\right) x^{\frac{3}{2}}}{3 \ln x}+O\left(\frac{x^{\frac{3}{2}}}{\ln ^{2} x}\right)
$$

where $\zeta(s)$ is the Riemann zeta-function.
Note. For any prime $p$ and positive integer $\alpha$, we define $f\left(p^{\alpha}\right)=p^{\frac{1}{\alpha+1}}$. Let $n=$ $p_{1}^{\alpha_{1}} p_{2}^{\alpha_{2}} \cdots p_{r}^{\alpha_{r}}$ be the prime power factorizations of $n$, then from the definition of $f\left(p^{\alpha}\right)$ we have

$$
f(n)=\max _{1 \leq i \leq r}\left\{f\left(p_{i}^{\alpha_{i}}\right)\right\}=\max _{1 \leq i \leq r}\left\{p_{i}^{\frac{1}{\alpha_{i}+1}}\right\} .
$$

Let $x$ be a positive real number, whether there exists an asymptotic formula for

$$
\sum_{n \leq x}(f(n)-\sqrt{p(n)})^{2}
$$

is an unsolved problem.

## §2. Some lemmas

To complete the proof of the theorem, we need one simple Lemma.
Lemma. Let $p$ be a prime and $\alpha>0$ be an integer, then for any fixed positive integer $m$, we have the asymptotic formula:

$$
\sum_{2 \leq p \leq x^{\frac{1}{m}}} p^{\alpha}=\frac{m}{\alpha+1} \cdot \frac{x^{\frac{\alpha+1}{m}}}{\ln x}+O\left(\frac{x^{\frac{\alpha+1}{m}}}{\ln ^{2} x}\right)
$$

Proof. Let $\pi(x)$ denotes the number of the primes up to $x$. Noting that

$$
\pi(x)=\frac{x}{\ln x}+O\left(\frac{x}{\ln ^{2} x}\right)
$$

from the Abel's identity [8] we have

$$
\begin{aligned}
\sum_{2 \leq p \leq x^{\frac{1}{m}}} p^{\alpha} & =\pi\left(x^{\frac{1}{m}}\right)\left(x^{\frac{1}{m}}\right)^{\alpha}-\alpha \int_{2}^{x^{\frac{1}{m}}} \pi(t) t^{\alpha-1} \\
& =\frac{x^{\frac{\alpha+1}{m}}}{\ln x^{\frac{1}{m}}}-\frac{\alpha}{\alpha+1} \frac{x^{\frac{\alpha+1}{m}}}{\ln x^{\frac{1}{m}}}+O\left(\frac{x^{\frac{\alpha+1}{m}}}{\ln ^{2} x^{\frac{1}{m}}}\right)=\frac{m}{\alpha+1} \cdot \frac{x^{\frac{\alpha+1}{m}}}{\ln x}+O\left(\frac{x^{\frac{\alpha+1}{m}}}{\ln ^{2} x^{\frac{1}{m}}}\right) .
\end{aligned}
$$

This proves Lemma.

## §3. Proof of the theorem

Now we completes the proof of our Theorem. For any fixed positive integer $n$, let $p(n)$ denotes the greatest prime divisor of $n$, we shall debate this problem in following three cases:
(I) If $n=n_{1} p(n)$ with $\left(n_{1}, p(n)\right)=1$ by the definition of $f(n)$, then

$$
f(n)=\max \left\{f\left(n_{1}\right), f(p(n))\right\}=p(n),
$$

so $f(n)-p(n)=0$ in this case.
(II) If $n=n_{1} p^{2}(n)$ with $\left(n_{1}, p(n)\right)=1$, here $p(n) \leq n^{\frac{1}{2}}$, hence

$$
\begin{align*}
& \sum_{\substack{n \leq x \\
n=n_{1} p^{2}(n)}}(f(n)-p(n))^{2}=\sum_{\substack{n_{1} p^{2} \leq x \\
p\left(n_{1}\right)<p}}\left(f^{2}\left(n_{1} p^{2}\right)-2 p f\left(n_{1} p^{2}\right)+p^{2}\right) \\
= & \sum_{\substack{n_{1} p^{2} \leq x \\
p\left(n_{1}\right)<p}} f^{2}\left(n_{1} p^{2}\right)-2 \sum_{\substack{n_{1} p^{2} \leq x \\
p\left(n_{1}\right)<p}} f\left(n_{1} p^{2}\right) p+\sum_{\substack{n_{1} p^{2} \leq x \\
p\left(n_{1}\right)<p}} p^{2} \equiv I_{1}-2 I_{2}+I_{3} . \tag{1}
\end{align*}
$$

Let $p_{1}$ be the greatest prime divisor of $n_{1}$, if $n_{1}=n_{2} p_{1}^{\alpha}$ with $\alpha \geq 2$, then $f(n)=\sqrt{p}$; otherwise $n_{1}=n_{2} p_{1}$ with $\left(n_{2}, p_{1}\right)=1$, so

$$
\begin{align*}
I_{1} & =\sum_{\substack{n_{1} p^{2} \leq x \\
p\left(n_{1}\right)<p}} f^{2}\left(n_{1} p^{2}\right)=\sum_{\substack{n_{2} p_{1} p^{2} \leq x \\
p_{1}<p}} f^{2}\left(n_{2} p_{1} p^{2}\right)+\sum_{\substack{n_{2} p_{1}^{\alpha} p^{2} \leq x \\
p_{1}<p}} p \\
& =\sum_{\substack{n_{2} p_{1} p^{2} \leq x \\
p_{1}>\sqrt{p}}} p_{1}^{2}+\sum_{\substack{n_{2} p_{1} p^{2} \leq x \\
p_{1} \leq \sqrt{p}}} p+\sum_{n_{2} p_{1}^{\alpha} p^{2} \leq x} p . \tag{2}
\end{align*}
$$

By using Lemma, we can deduce that

$$
\begin{align*}
\sum_{\substack{n_{2} p_{1} p^{2} \leq x \\
p_{1}>\sqrt{p}}} p_{1}^{2} & \leq \sum_{n_{2} p_{1} \leq x^{\frac{1}{3}}} p_{1}^{2} \sum_{p \leq \sqrt{\frac{x}{n_{2} p_{1}}}} 1 \ll \frac{x^{\frac{1}{2}}}{\ln x} \sum_{n_{2} p_{1} \leq x^{\frac{1}{3}}} p_{1}^{\frac{3}{2}} n_{1}^{-\frac{1}{2}} \\
& \ll \frac{x^{\frac{1}{2}}}{\ln x} \sum_{p_{1} \leq x^{\frac{1}{3}}} p_{1}^{\frac{3}{2}} \sum_{n_{2} \leq x^{\frac{1}{3}} / p_{1}} n^{-\frac{1}{2}} \ll \frac{x^{\frac{4}{3}}}{\ln ^{2} x}, \tag{3}
\end{align*}
$$

Similarly, we have

$$
\begin{equation*}
\sum_{\substack{n_{2} p_{1} p^{2} \leq x \\ p_{1}<\sqrt{p}}} p \leq \sum_{\substack{n_{2} p_{1} \leq x^{\frac{1}{3}}}} p \ll \frac{x}{p \leq \sqrt{\frac{x}{n_{2} p_{1}}}}, \tag{4}
\end{equation*}
$$

$$
\begin{equation*}
\sum_{n_{2} p_{1}^{\alpha} p^{2} \leq x} p \ll \frac{x}{\ln ^{2} x} \tag{5}
\end{equation*}
$$

From (2), (3), (4) and (5), we may immediately obtain

$$
\begin{equation*}
I_{1} \ll \frac{x^{\frac{4}{3}}}{\ln ^{2} x} \tag{6}
\end{equation*}
$$

According to the estimate method of $I_{1}$, we can also get

$$
\begin{align*}
I_{2} & =\sum_{\substack{n_{1} p^{2} \leq x \\
p\left(n_{1}\right)<p}} f\left(n_{1} p^{2}\right) p \\
& =\sum_{\substack{n_{2} p_{1} p^{2} \leq x \\
p_{1}>\sqrt{p}}} p_{1} p+\sum_{\substack{n_{2} p_{1} p^{2} \leq x \\
p_{1} \leq \sqrt{p}}} p^{\frac{3}{2}}+\sum_{n_{2} p_{1}^{\alpha} p^{2} \leq x} p^{\frac{3}{2}} \\
& \ll \frac{x^{\frac{7}{6} \ln \ln x}}{\ln x} . \tag{7}
\end{align*}
$$

Now, we will calculate $I_{3}$. By using Lemma and note that $p(n) \leq n^{\frac{1}{2}}$, we have

$$
\begin{align*}
I_{3} & =\sum_{\substack{n_{1} p^{2} \leq x \\
p\left(n_{1}\right)<p}} p^{2} \\
& =\sum_{n_{1} \leq x^{\frac{1}{3}}} \sum_{p^{2} \leq x / n_{1}} p^{2} \\
& =\sum_{n_{1} \leq x^{\frac{1}{3}}}\left(\frac{2 x^{\frac{3}{2}}}{3 n_{1}^{\frac{3}{2}}(\ln x-\ln m)}+O\left(\frac{x^{\frac{3}{2}}}{n_{1}^{\frac{3}{2}} \ln ^{2} \sqrt{\frac{x}{n_{1}}}}\right)\right) \\
& =\frac{2 x^{\frac{3}{2}}}{3 \ln x} \sum_{n_{1} \leq e^{\sqrt{\ln x}}} \frac{1}{n_{1}^{\frac{3}{2}}}+O\left(\sum_{e^{\sqrt{\ln x}<n_{1} \leq x^{\frac{1}{3}}}} \frac{x_{1}^{\frac{3}{2}}}{n_{1}^{\frac{3}{2}} \ln \frac{x}{n_{1}}}\right)+O\left(\frac{x^{\frac{3}{2}}}{\ln ^{2} x}\right) \\
& =\frac{2 \zeta\left(\frac{3}{2}\right) x^{\frac{3}{2}}}{3 \ln x}+O\left(\frac{x^{\frac{3}{2}}}{\ln ^{2} x}\right), \tag{8}
\end{align*}
$$

where $\zeta(s)$ is the Riemann zeta-function.
From (1), (6), (7) and (8), we may immediately deduce the case (II)

$$
\sum_{n \leq x}(f(n)-p(n))^{2}=\frac{2 \zeta\left(\frac{3}{2}\right) x^{\frac{3}{2}}}{3 \ln x}+O\left(\frac{x^{\frac{3}{2}}}{\ln ^{2} x}\right)
$$

(III) If $n=n_{1} p^{\alpha}(n)$ with $\alpha \geq 3$, note that

$$
\begin{aligned}
\sum_{\substack{n_{1} p^{\alpha} \leq x \\
p\left(n_{1}\right)<p}} p^{2} & =\sum_{n_{1} \leq x} \sum_{p \leq\left(\frac{x}{n_{1}}\right)^{\frac{1}{\alpha}}} p^{2} \\
& \ll \frac{x^{\frac{3}{\alpha}}}{\ln x} \sum_{n_{1} \leq x}\left(\frac{1}{n}\right)^{-\frac{3}{\alpha}} \ll \frac{x^{\frac{3}{2}}}{\ln ^{2} x},
\end{aligned}
$$

so in this case

$$
\sum_{n \leq x}(f(n)-p(n))^{2} \ll \frac{x^{\frac{3}{2}}}{\ln ^{2} x}
$$

Combining three cases above, for any real number $x \geq 3$, we have the asymptotic formula:

$$
\sum_{n \leq x}(f(n)-p(n))^{2}=\frac{2 \zeta\left(\frac{3}{2}\right) x^{\frac{3}{2}}}{3 \ln x}+O\left(\frac{x^{\frac{3}{2}}}{\ln ^{2} x}\right)
$$

where $\zeta(s)$ is the Riemann zeta-function.
This completes the proof of Theorem.

## References

[1] Ashbacher,C., Some Properties of the Smarandache-Kurepa and Smarandache-Wagstaff Functions, Mathematics and Informatics Quarterly, 7(1997), 114-116.
[2] Begay, A., Smarandache Ceil Functions, Bulletin of Pure and Applied Sciences, 16E (1997), 227-229.
[3] Mark Farris and Patrick Mitchell, Bounding the Smarandache function, Smarandache Notions Journal, 13(2002), 37-42.
[4] Kevin Ford, The normal behavior of the Smarandache function, Smarandache Notions Journal, 10(1999), 81-86.
[5] Henry Bottomley, Some Smarandache-type muliplicative functions, Smarandache Notions Journal, 13(2002), 134-139.
[6] Tabirca Sabin, About Smarandache multiplicative functions, Octogon, 7(1999), 169-170.
[7] Zhefeng Xu, On the value distribution of the Smarandache function, Acta Mathematica Sinica, Chinese series, 49(2006), 1009-1012.
[8] Tom M. Apostol, Introduction to Analytic Number Theory, Springer-Verlag, New York, 1976, 77.


[^0]:    ${ }^{1}$ This work is supported by N.S.F.(No.10601039) of P.R.China.

